SEV-40F

KOSHIN

CEROEED

BI{% SEV-40F-AAA-0 <K100) (012939104)

*EREKE 1ACERALTVAERTY. AUBTRHYEEA
* RoRMlitG (IERR—EH 7 Y OBRE NEMMIE TS

No. | EBEI—R B R A EREY R s - M H B i =

1| 012190502 | SE-40 R 74 —2R 1| ADC 5400

2| 011332702 | SE-40 RATZS > (G) 1 | ADC 1050

3| 011332801 | SE-40 F+ v /LT 1 | NBR 750 N

4| 011807804 | 20A 7S50 = 2 500 | PA-156(4971770-102156)

5| 011057905 | SEK-40E-1 7522754 v b 1 | ADC-12 5150

6 | 011422002 | SE-40F-2 iB#= 1| FC 4950

7| 011430505 | SEH-40F £ RS 1| ADC 2850

8| 011057702 | SE-40L M 7S 1| ADC 2200

9| 011059301 | SE-40L-1 75> /Xv*> 1] CR 300 N
10 | 012700801 | SEV-40 A'-R43 1 4100
11| 011041702 | 25 vy 3> S5/N- 4 | PVC 150
12 | 743119030 | kU A REISRESERANEARIL 4 | M6 X 16 SWRM 100 N
13| 827419006 | ~AFv b+ 4 | M6 SWRM 100 N
14 | 846207106 | FES 4| /4902619 t 12 100 N
15| 743119045 | kU A RREERESEANABRIL S 3 | M8 X 20 SWRM 100 N
16 | 743119047 | b U A REISRESEANEARIL 12 | M8 X 25 SWRM 100 N
17 | 734532074 | RNASRFMRILE(Ty o +— ) 4 | M8 X 50 SCM 150 N
18 | 735719145 | "MKV B FFEL 1| M8 X 14 100 N
19 | 854255008 | ¥ -ILTwiw 4] ¢8 100 N
20 | 012208001 | K100 Tv¥ > ~"—2R 2 | SPCC T45 400 N
21| 012321301 | O UV¥ 1 | 1517-42.5 NBR 450 N
22 | 889855048 | O U4 1 | P48 NBR 100 N
23| 011011401 | SE25 A U RSFR I v o+ — 3 | BSP 100 N
24| 011809102 | SEF25 N\ RO =2 1 1250
25| 011270002 | SEF25 /\> RJL 1 800
26 | 012325501 | SE-25 /\> KJLS/N- 1| PVCARUEY 550
27 | 012224001 | K100-CO-P TP 1 | EPA EUEMC -
28 | 011067302 | SEK-40 *h=AHI - 1 | HGOA-MN ¢ 15 h-k Vt53949 2700
29 | 011819401 | SE-40 Ak -F -2 (FAEVE) 1| PPAEVE 1100
30 | 940019048 | 7k- R/N» R 3| ¢ 48 150 N

OEMZARERBROBRTIIT>TEY A,

DEMEIFERETTHEDBHYET.

ORTMEICHERIIEENTEY EtA.

OXHEREHEP PPV ET,



SEV-40F KOSH'N

CIROEED)

* ERERIE 1 BICERLTVSEHTY, AUBTRHYEHEA
ﬁit% SEV‘40F‘AAA'0 <K100> (012939104) % ii‘ﬁﬁ*ﬁ(igﬂlﬁl_{@bt U @fiﬁﬁé‘d\ﬁﬁﬁ%f?‘

No. | #p@a—K B R % o P2 ok - M OE B & =

31| 012800604 | SE-40 #iRg7/9vFhy7 V5 43 2 3500
32| 011800204 | #fghhnysrTDF (N1 15" 2 2100
33 | 012047801 | SE-40 haOy /8y F2 (VL) 2 400 N
34 | 012020705 | #tfgh L0y IA&E (15" 2 | PAB 800
35| 012020901 | #ifsh o0y oAy F+2 (15" 2 | NBR 400 N
36 | 012283901 | SEV-40F-AAA-O §44R 1] FrOY74IbA 100 N
012013704 | SE FI3CHL@EEIREHEAE (4 #490F ) 1
012284101 | SEV-40F-AAA {+H16 1

OBBEALEBROKTZRToTEYEEA, OBFEEIFEREETIEPHYET. DRFMMRICHERISINTEVEEA, OZHEREHEBIPVET,



